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Notes B
Combining Like Terms
-Match the variables and exponents
-Add and subtract the coeflicients
**Exponents STAY the same!
Distributing
-Multiply the number outside of the ()
or| | mside
-Combine like terms AFTER
distributing

Date
Intermediate Algebra

"
IReview Tor Exam #]

ixi unplu.

5C x -lox )
5x -30x + 10 7 A5 X+l

~ Evalus ltm;_, Expressions/Functions
-Replace the variables with the numbers
using ()
-Type into calculator using ()!!!

)Imhmt:.a —abc+ Db \\_hcn a=-1.b=2.c=-3
(-DN2-CWD(E3) HB) = -7
HIf f(x) =x*—4x*+1 find f(=2)

(-2Y -4q(-2)s1 = -22

I~ +—1( é\‘H;}J‘-—*g
23 2,55
IR, |- _S’f\_ﬁ, ——]
2) 5lx — 3(2x — 4)] |
<

Adding Polynomials
-Combing like terms!!!

kaunauny Onoln Ly

4) Find the sum of £ 3x3; 4x?) -5x an 5x2f~ 6x3/+ 8x

-q)(a_*q )(a--f?)}(

Subtracting Polynomials
-Keep the first polynomial the same
-Change to addition
-Change ALL signs in the second
polynomial
**FROM means FIRST!

oty qreun¥

5) Subtract —=3x* + 4x% — 5x Irom 5x% — 6x3 + 8x

i (%;ﬂf(” 1834 @41 45%)

-3x3 v v‘lg)(

6) Subtract: (6x% — 5x + 2) — (522 —4x —6)

(UA + ((SPFHREE)

il e

Multiplying Polynomials
-Multiply the coefficients
-Add the exponents
*Double distribute or Box Method!!

=g
A% 10 X -5A-2°
AxP+S 4 -AS

8) (x* 4)(x* —5x+12)
IO & Qx4

X

-8x
+ 3

Dividing Polynomials
-Rewrite as separate fractions
-Divide the Coefficients
-Subtract the exponents

= ng

aqx‘515
gxoy*

49044
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o Cn]npaii‘iuns‘ 10) 17 f(x) = 2x — Land g(x) = x find (g o £)(=2)
-The right m‘u;f;;{l;}unclmn comes -P(—Q\ --Q.(. _'95 - 2 = 5
-Replace T-|:[‘:-:::cl;l([Ii]t?;il\}:]fn,l)lmc{ilm or Cj (_5') = 1 "S) 2 :@
L) IPm(x) = x% — 3 and k(x) = 4x — 1 find m(k(x))
L4 x- =3 L{,(",I_L”-q L 4]
(Q&QA—i) -3 L‘XQ'?X+4

]

%k awer Kov ran ] * - 1
Answer Key Available at ww w.ms-schmidt.weebly.com Under Notes- Unit | Polynomial Expressions
_____-_——"———-____,______

Part I: Simplify each
NS
1) Sx?(x? + 2x — 4) — 2x3
S5x9 431590 x* -253
Sx4-90 x?
2) 6@3—_17)
b~-¢x ~38
“4x-29

3) 4a-2[a@a5)+2a] .-‘
Ha-p[a-\9a-45¥8&) o ta +30a +90
| - e 34a+90
Y o L 15045 ]
4) 22+ 150y "3) + 8y
AN 3 2 Y H8y
5y + 1y
2
5) —3x+§(6x—18)+5
-~ x +Ux-12tS
X -1

6) 3b—2{b2—[4b@f532)]+3b2} ) ELLREL -8p*
2b ~9551—E-|b-%—@ +’f’>bf -9 A -Tb 36 ¢
3b-29 250190 +20°f

?)'b-g§ b""‘:ﬁbi\-l? +3b93
b % SHm F4b*
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' Part1: Evaluate cach
L]

N If x =-6, fing 'lh‘.."nllll(.(ﬂ 2xt + -x — 1.

A (-)? F3(-6)-\

2(30) + - 15 -] -
13 +-15-) i@
8) Evaluate —a? — (4a +5) +2 whena =7

~(4)?-(Au) +$)+ 2
-1~V etSH +2

“ 1 -a\+4 = =

9) Il x=-2,and y = 5. find the value of —~ e

A2(-9)*-a(s) . -
HIE)COEN 6

10) Evaluate 6 — 2a — 2b%. whena=3and b = 4.

=31 %) -3 ()™

-t -33 (-32)

11) Given f(x) = 14x? — 25. evaluate f(—2)
(-2)*-2%
14(4) -35 =

12) If g(y) = 3y? — 10y + 5, find g(4)
3 (u)*-10lu) S r
2()6)- HO1S
Part II1: Perform the indicated operation

o 1OF
13) From 3x% — 5x + 2 subtract 4x* — 10

(DA =S %13) F EUXH10)
- X?-Sx 412

14) Add [(10x3f} 823+ 1) and @ 2x=1)

2 x3 +\\*-1Q «
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15) Subtract 51‘*-4—7\ 3) Imm (2x% +7x 4 107
@ /j:,zxﬂo)f((x ISLES o~
DX +13
16) Simplily: (—_ﬁﬂh Sa? ’I—_(_I_ -13) f(@ 2a2 Jp 6u 12)

“1a3 102 s -]

17) Multiply:. (h@)

-/Q);Q_g X F18x +73
19 X211y 3

18) Multiply: (3x — 4)(2x2 + 6x +9) a') Q

(oX rl&k FAx _gx2 3% |laxg\|gx5~\+9—,x
oy B3
bx®+)0g2+% % - 3 B x\—S(c

19) Simplity: 2 — 3x(x + 5)2 g
9-3 x (1 +5) et 3 § >
3~ 2X7-30x% 75 %

J-2yx (x245x15%135) .
2- 54 CxMor1a5) "5%730 ¥2y5x1 g

20) Multiply: (6x — 7y
(Lox- vm

?)(C)( QQ)LV'L*&X\{ quyol
Bbx2- 84)4\4 +qﬂy
21) Simplify; 2 - 5(3x+2)§x 4) + 10x

;‘l 55((;2" ~4xr2x48) +10 X .
*2-ax4g) 100 15K 120 % -39
L= ISX2H10 % - 4o 110y 7

5 . .~ 36xty
2) Simplify: e 3 M 7
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23) Divide; 2219 -1 3) 1?’ + G2 - 3%

24 +34 -
9 ivide: a' b= 1203420 h? % 2 3
) D e: 4ath . l éo\q l Jg"” laa\ b *-Q‘—Cl—g'b
4a Ha’b ‘72* b
| 70°0 - 20+ 2
25) Divide; 102102 J00y3 + 25y &gz
Syz SyZ2  Sy&
p
O - 2Z
2 A5
26) Divide: <220 \e 22\ + [ Xy 2
Hyty Xy
@ Part IV: Compositions L‘l A 5 % Y Licsy
27) Given f(x) = 3x —2and g(x) = x* =3 find (g ° fle(‘-E)
() =3(2)-3= 4
(4) = (a)*-3 - (J3) Asy
28)I{7(x) = 2x — 1 and h(x) = x* + 1, find (h = /)(—4)
Py = 9(-4) -\ = -
) 2 .
h (-9) - (_cn 3\ I{‘-}'—irs-l.
20)Given f(x) = 2x —1 antfl g(x) = 2x* — 3x find g(f (x))
A (Ix=1)? - B(Ax~1) gx28x+2-0x+3
20N (ay1) - Bax-1) 8 X314 % +S

A(HUA-2x-3241) - B a%-D
ACaX®-Yxr)) -B(9x-1) £ s+

)

30)If f(x) =x*>—1and g(x)=2x+5.find f(g(x))

(9x45) |
(4x45) (9 x15) —)
L x?+10%+10x T35 1

Uy +20 x +b
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